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01 A 2EHSE 2 ([ REETR) 1,500 3,040 21,540
OLES0tE XK (22H|, Ael&dA S) 1,500
s 1,200
= 150
= 150
4 HAFRESS 7,238 5,660 1,578
s 5,790
= 724
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SA FUS
B BN (FU=ND)
=91: Jl=3dl (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 9,500 9,500 0
OoR#ERs 3802 *1,0000H 380
O&JIHIE & &l =&KXl
280,000 x 12 3,360
Occtvg = 60,0002 x8H A+ 12 5,760
202 04| 4,704 4,704
01 SLHoIH 4,704 4,704
SAE2E U
20,0002 x28* 123 +0. 7 4,704
203 HR=AH] 6,300 11,380 /5,080
MU A2 LRFEI 6,300 7,380 1,080
ORANEgg =AY 525,000 x 122 6,300
HRas(=e=X) 318,285 323,472 N5,187
WA XIE 318,285 323,472 25,187
WEHeHXIE 318,285 323,472 5,187
701 JIEtRI HSHES 318,285 323,472 25,187
01 It AN ES 318,285 323,472 A5, 187
O2d=380SEIH 2HIRg dES 318,285
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